317 Draw Latch
Flexible - Pull type - Tab handle

= Flexible one piece Small
molded latch

Material and Finish

Small:

EPDM rubber and stainless steel
Medium:

EPDM rubber and steel, zinc plated

Performance Details

Alternate

mm._lr!ting
Small: #_F'“;‘fla"ﬂﬂl:'net
Average clamping force:
209N (47 Ibf) %
Medium kﬂla.z 1{.047)
Average clamping force: : < e 1129

: L 4 pl

26.2 N (5.9 Ibf) el e
Operating temperature range:
-20°C (0°F) to 95°C (200°F)
Installation Notes

Install assembly with four @ 3 (.125)
rivets or M3 (No. 4) screws )
(nat supplied) Medium

167
(.G}
| Atemate
: _1/—— mounting
pasitian
[23;3. . 1 s :v:—Brachut
. 51
Alignment lug g3z
. 10.3 5.4 127 (.125)
4y (1.00) T 50 (4 places)
ot e
e Series Steel Stainless Steel
Assembly complete with keeper Small - 37-10-051-20
........................................................ - e :
(ther options available. Far complate details
o vanety, part npmbers, instaliation and
specification, go fa 3
INFO
cLic | www.southco.com/37 Dimensions in millimeters (inch) unless atherwise stated 5:9“9;!:‘ EE?

X



31 Draw Latch
Flexible - Pull type - T-handle

"

Small _ 3.2 (125) 4 places « Flexible one piece
1 molded latch
Material and Finish
36.6 EPOM rubber and stainless steel or
(1.44) L70) steel, zinc plated
l Performance Details:
\ \\_ Brachet Average clamping force:
L L
58.7  When latched 03 |, Small: 6N (G 16f)
(40 Medium: 39 N (8.7 Ibf)
Handle [ L Altermiate e
- mounting Operating temperature range:
B *Jr‘, S -20°C (0°F) to 95°C (200°F)
= h —ft Installation Notes
§(23)
= i Small:
Install assembly with four @ 3 (125)
. 5 - rivets or M3 (No. 4) screws (not
(41) (50) (042) b (Mo 4) (n
Mlignment lug |ll
Medium Medium:
T Handle #36 (141) 4 places Install assembly with four @ 3.6
Kegper Keeper style R——«{{h (.141) flat head rivets or M3.5
Style F7 Rive Bracket E : i (No. 5) screws (not supplied)
(.73
418 42
(1.88) (95)
1
— T o 115
| 294 Whan latched (47 e
W Ir W mounting
e position
19 i
L75) 1] §
J 87
L i 4 3
159 _] =t
2(.08)
X fiar keeper style B
| smusmraer e
Steel Staless Steel | | yggger | | Latch Shipped Assembled | Latch Shipped Unassembled Seefable
37-10-D65-10 37-10-065-20 Style Steel Stainless Sieel Sieel Assembly complete with keeper
e R i, S e, T I
ol s | 3HO4TI0 | 371007120 37-10-072-10
56.4 Other aptions available. For complete details
R | o | F20071I0 | 372007120 37-20-072-10 on variety, part mumbers, installtion and
. specification, go to
INFO
Sr?;l?l tﬁhgg Dimensions in millimeters {inch) unless otherwise stated  CLIC www.southco.com/37

X



317 Draw Latch
Flexible - Pull type - T-handle

= Flexible one piece
molded latch

Material and Finish
EPDM rubber and stainless steel

Performance Details

Average clamping force:
49 N (11 1bf)

Operating temperature range:
20°C (0°F) to 95°C (200°F)

Installation Notes

Install assembly with four @ 5( 188)
rivets or M5 (No. 10) screws (not
supplied)

Part Number

(ther options available. Far complate details
o vanety, part npmbers, instaliation and
specification, go to
Eﬁ www_southco.com/37
%

Large —

(2.44)

(4.00)

X fior keeper style B

102 whan Iatched

@ 5.2 (203) 4 places

Bracket
=
X
L
165,
(658) _ mtornate

mounting
pasitian

2 127
L |—L L50)

A=

X for keeper style F—e

=
24009

Dimensians in millimeters (inch) unless otherwise stated

Latch shipped assembled Latch shipped unassembled
Keeper Style X
A Steel Stainless Steel A Stoal
F J/AMSH | 3138 3710-086-10 37-10-086-20 3 37-10-087-10
R Bz | (.29 37-20-086-10 37-20-086-20 (L34) 37-20-087-10

CORMECT « CHEATE  INMCAATE



31 Draw Latch -
Flexible - Pull type - T-handle

Extra Large * Flexible one piece -

] molded latch
style F T Brachet Material and Flnlsh -

EPDM rubber and stainless steel
or steel, zinc plated

194 {ﬂ'i; Performance Details

(3.13) Pverage clamping force: 84 N (19 Ibf)
Operating temperature range:
-20°C (0°F) to 95°C (200°F)
Filot hoke Installation Notes

1 Install assembly with four @ 5 (188)

rivets or M5 (No. 10) screws (not
i L when latched supplied)
o L e Ve
i L= mounting
position
3.8
{1.25) 1
. 145
1 ' s (51
3 = T
| I
24 3.2
.09 954 .13)
*—tﬁ% X for keeper styla F —=1=— {l_m]—h-
X for koopor style R

I R e

o | Reper | | : Latch Shipped Assembled Latch Shigped Unassembled Seetable
Style Steel Stainless Steel Steel Assembly complete with keeper
F 13027 | 508200 37-10-101-10 37-10-101-20 e I e
- R (313 | 905 (356) 37-20-101-10 37-20-101-20 37-20-102-10
F 2477 | 1651 (650) 37-10-131-10 37-10-131-20 -
- R (8.75) | 204.8 (8.06) 37-20-131-10 F-20-131-20 - Dther gptions available. Far complete datails
o variety, part umbers, installation and
southco T [
B SRR B RAIE Dimensions in millimetars (inch) unless otherwise stated  CLIC www_southco.com/37

X



